
BS/TS OUTLINE

EXAMPLE-NOTES



PROMPT

Explain how modern life would be 

different without computers.
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History



HOOK STATEMENT

“One of  the most feared expressions in 

modern times is, ‘The computer is 

down.’” Norman Augustine



BS (BROAD STATEMENT)

You spend over half  the day with it. It’s 

a toy, it’s communication, it’s a learning 

device. It’s a computer.



TS (THESIS STATEMENT)

Although a lack of  computers could have 
some positive outcomes, the world would 
be negatively impacted without computers 
because of  the effects on healthcare and 
the economy.



Reason 1: (FROM T-CHART)

Healthcare would not be as advanced 

without computers.



Elaborate: (ON REASON #1)

Computers are used for everything 

from organization of  files to life 

support.



Example (SLACH): 

TO SUPPORT REASON 1

Many hospitals and doctors file medical 

records electronically.



Explain ↑:

SLACH 1

For instance, Drs. and nurses observe 

the patient with a computer in the 

room or a tablet in hand for immediate 

input of  information and diagnosis.



Example (SLACH):

2ND EXAMPLE TO SUPPORT REASON 1

Medical attention is available quickly 

due to MRI, CT-Scans, and other 

advanced machines. 



Explain ↑:

SLACH 2

Patients who are experiencing chest 

pain will get a scan to see if  there is any 

blockage, which could eventually save a 

life due to immediate medical attention.



Reason 2:

FROM T-CHART

Computers enable the world many 

advances due to the increases of  

economy opportunities.



Elaborate:

(ON REASON 2)

More jobs will be available because 
machines need people to run them and 
designing of  advanced machines will be 
used to increase the ability to meet the 
demands of  supply.



Example (SLACH):

TO SUPPORT REASON 2

•Many machines have been created 

therefore opening many job slots 

which helps with the unemployment 

rate.



Explain ↑:

SLACH 1

For example, factory workers are 

needed to run the machines down the 

assembly line for many  industries to 

keep up with the demand.



Example (SLACH):

2ND EXAMPLE TO SUPPORT REASON 2

Meeting the supply and demand 

through the work of  the stock market 

would not be possible without 

computers.



Explain ↑:

SLACH 2

Computers allow for more production 

therefore creating more money for the 

economy.



Restate TS:

Healthcare and the economy has had 

many advances to ensure the nation is 

positively impacted because of  

computers.



Broad Closing Statement (BCS):

Computers are the way to go.


